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S E B (3H) - MBAY - BES Ol &F o4 %Eﬁ HD=2
06 JIEFXHR = O] XHA & 193,412 193,412 0
NECEHTN GUIASR(HERS)
193,412,000& 193,412
601 X2 A=4 & 10,050,000 14,506,766 N4, 456,766
04 SLHEEXNL == 4E 9,200,000 13,656,766 N4, 456,766
N2 23 ZJ|aE 3,000,000,000& 3,000,000
NEYNEHAUZ ADAS(XE)
6,200,000,000& 6,200,000
06 JIEI=UXIE S A3 A E 850,000 850,000 0
N2 E S EAI 2 AE 850,000,000& 850,000
ol g1 "l 3,871,000 3,899,837 N 28,837
ol "l "l 3,871,000 3,899,837 N 28,837
ol g1 4] 3,871,000 3,899,837 N 28,837
801 ofl bl Bl 3,871,000 3,899,837 N 28,837
1 0l gl gl 3,871,000 3,899,837 N 28,837
YL A HHIHI(EHA ollglgl 2 1%0] &)
3,871,000,000& 3,871,000




